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Stretch Factor:  Stretch / Compress Parabolas 
Graph the following parabolas using a graphing calculator.  Record any observations you notice about the similarities and differences of each parabola with the parent graph, 
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Observations: ______________ __________________________
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Observations: ______________ __________________________
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Observations: ______________ __________________________
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Observations: ______________ __________________________
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Observations: ______________ __________________________

	Conclusions:  Given that the general equation of parabolas is 
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describe what “a” does to the equation: _____________________________________________________

If 
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, the graph is __________________.  

If 
[image: image10.wmf]1

>

a

, the graph is __________________.

“a” is always ____________, however, it is the ______ in front of “a” that determines the graph’s ______________________ (i.e, open __________ or __________).


Practice:   Graph each parabola.  Be sure to identify the following information.  
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	For each function, determine the following information.  Be sure to make a complete graph 

	a)  
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	Table:

	y–intercept:  


	

	line of symmetry:   


	vertex: 


	Vertex form:   y = ____________________

	b)  
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	Vertex form:   y = _____________________
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